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Imagem original: 

5 x 5 pixels = 25 pixels 
3 bits ou 23 = 8 níveis de cinza (L). 
Intervalo de níveis de cinza: [0, 7] 
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Histograma normalizado: 

5 x 5 pixels = 25 pixels 
3 bits ou 23 = 8 níveis de cinza (L). 
Intervalo de níveis de cinza: [0, 7] 
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Histograma normalizado: 
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3 bits ou 23 = 8 níveis de cinza (L). 
Intervalo de níveis de cinza: [0, 7] 
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Histograma normalizado: 
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3 bits ou 23 = 8 níveis de cinza (L). 
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5 x 5 pixels = 25 pixels 
3 bits ou 23 = 8 níveis de cinza (L). 
Intervalo de níveis de cinza: [0, 7] 
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